
Trigonometrie Aufgabe 37 

 
Berechnen Sie β, b und c.  

 
Im Dreieck DBC: 

 
            hc     12,9 cm 

sin β = --- = ---------- = 0,6324 --> β = 39,2° 
             a     20,4 cm 

 

α = 90° - β = 90° - 39,2° = 50,8° 
 

Im Dreieck ABC: 
             a    

cos β = --- | *c 
             c 

 
c * cos β = a | :cos β 

 
          a         20,4 cm  

c = ------- = ----------- = 26,3 cm 
       cos β       0,7749 

 
             b    

cos α = --- | *c 

             c 
 

c * cos α = b 
 

b = 26,3 cm * 0,632 = 16,6 cm 
 


